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Gravitational force near earth

mai ma D via max



Vea

mgx.ie
se

Keplerian gravitation force

mi Emre D via GMI
Io

tei

IIIII D via cosa



C 1

iittià

For C 1 THE CORRESPONDING ORBITS ARE 3

By the periodicity of the cost the best prese space

for the pendulum
is the cilinder

IIII canny poem È I ears via

si o E

Ifan use the first integral E se si Isi via

Since

4 se 4 se v a D se 453 4 s ds

54 252 è se 4 2
2

Else si E si
2 24_2 2 E O E 1

D LÌ se 4 2
2 1



D È 2 24 2
2

1

D si senesi o ETTI
Tease

until the first instant where È o

FEFÈ
we integrate by
separation of variables

2

É_E
2 2 D Fds fig da

E t o

arctgyffearctgxifEII.ae

iii
iii

Clearly o 0 is unstable It's a local max of the



piui 4244
5 4,0

o a

Rx 4 d

ITL0,0 e I I with as 12 undatelitz

EXERCISED

Describe qualitatively the motion of a point subjected

to the conservative force with potential energy
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Q Values of energy corresponding to periodic motions
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